¢ K 5

** *

g¥a APEX DYNAMICS, INC.

=% i
fTEIVRIEH
AFX /| AFXR %3

Stainless



ISR TEIVHIENAFX/AFXRES

Tt

IEN R F-AFX/AFXR

K ~=aRist

=D
REAHDRIZEDIER L
=R/ REE

WA SHEERIT

RIRE

KEH

AFX







BEETEMIENAFXAFXRERS

AFX Z5 = mnkE

BN TR

B = TEL  |REEEL™| AFX042° | AFX060 | AFX060A | AFX075 | AFXO075A | AFX100 [AFX100A| AFX140 |AFX140A| AFX180

3 20 55 - 130 - 208 - 342 - 588

4 19 50 - 140 - 290 - 542 - 1,050

5 22 60 - 160 - 330 - 650 - 1,200

1 6 20 55 - 150 - 310 - 600 - 1,100

7 19 50 - 140 - 300 - 550 - 1,100

8 17 45 - 120 - 260 - 500 - 1,000

9 14 40 - 100 - 230 - 450 - 900

10 14 40 - 100 - 230 - 450 - 900

12 19 50 50 140 140 290 290 542 542 | 1,050

15 20 55 55 130 130 208 330 342 650 588

16 19 50 50 140 140 290 290 542 542 | 1,050

20 19 50 50 140 140 290 330 542 650 | 1,050

et I5E Ty Nm 25 22 60 60 160 | 160 | 330 | 330 | 650 | 650 | 1,200

28 19 50 50 140 140 300 300 550 550 | 1,100

30 20 55 55 150 150 310 310 600 600 [ 1,100

32 17 45 45 120 120 260 260 500 500 | 1,000

2 35 19 50 50 140 140 300 300 550 550 | 1,100

40 17 45 45 120 120 260 260 500 500 | 1,000

45 14 40 40 100 100 230 230 450 450 900

50 22 60 60 160 160 330 330 650 650 | 1,200

60 20 55 55 150 150 310 310 600 600 | 1,100

70 19 50 50 140 140 300 300 550 550 | 1,100

80 17 45 45 120 120 260 260 500 500 | 1,000

90 14 40 40 100 100 230 230 450 450 900

100 14 40 40 100 100 230 230 450 450 900

BUFTIFE Tonor® Nm 1,2 |3~100 3 (EEEm e

BIEBINEGE Ny rpm 1,2 | 3~100] 5,000 [ 5,000 [ 5,000 | 4,000 | 4,000 | 4,000 | 4,000 | 3,000 | 3,000 | 3,000

BRBINGE N, rpm 1,2 | 3~100|10,000(10,000[10,000| 8,000 | 8,000 | 8,000 | 8,000 | 6,000 | 6,000 | 6,000

g ) 1 3~10 - - - <1 - <1 - <1 <1

SIS PO

BT aremin 2 |15~100] - - = = = <3 | =3 | =3 | =3 | =3
N 1 3~10 <3 <3 - <3 - <3 - <3 <3

PR P1 i

HE aremin 2 |15~100] =5 | <5 | <5 | <5 | <5 | <5 | <5 | =5 | <5 | <=5

— e ) 1 3~10 <5 <5 - <5 - <5 - <5 <5

PRI P2 aremin 2 [15~100] =<7 | =7 | =7 | =7 | =7 | =7 | <7 | =<7 | =7 | =7

HERIME Nm/arcmin| 1,2 [3~100| 3 7 7 14 14 25 25 50 50 145

BIFRAF Fos® N 1,2 |3~100| 610 | 2,900 | 2,900 | 4,500 | 4,500 | 7,800 | 9,200 | 9,450 [14,000[15,600

IR Fo.e® N 1,2 [3~100| 320 | 1,450 | 1,450 | 2,250 | 2,250 | 3,900 | 5,820 | 4,725 [11,400] 7,800

N 1 3~10 >97%

AR 0,

SN o 2 |15~100 >94%

=8 kg 1 3~10 | 0.6 1.7 15 35 4.1 74 [ 113 | 15.8 | 225 [ 32.7

2 [15~100] 0.8 2 2 4 55 9 10.6 | 19.1 | 20.2 | 37.6

FRRE °C 1,2 |3~100 -10°C~+90°C

g 1,2 |[3~100 BRGEEHE

PP 1,2 |3~100 IP65

Ex Il 1,2 [3~100 EFEAA

= dB 1,2 [3~100] <56 | <58 | <60 | <60 | <63 | <63 | <65 | <65 | <67 | <67

() BBE (- M

(2) Eijcrﬂjbﬁ-rza‘ 60% of T,y

) $IH%EZE100RPMATE, #1’FFEZJ:’$BJH:'|5E]¢’ULL§

) WEHRAETREAIRT, LA3000%EE ;‘ﬂﬂotb (B275) =100EL (W"ﬁ) IHIE S,
HEERFIBLHEEESN, BEERERF3F5H T
5) RIS ELTEE A,

3
(4




APEX DYNAMICS, INC.

REHENIRE
B = T8 |TEEEL™M| AFX042 | AFX060 | AFX060A | AFX075 | AFX075A | AFX100 [AFX100A| AFX140 |AFX140A| AFX180
3 0.03 | 0.16 - 0.61 - 3.25 - 9.21 - 28.98
4 0.03 | 0.14 - 0.48 - 2.74 - 7.54 - 23.67
5 0.03 | 0.13 - 0.47 - 2.71 - 7.42 - 23.29
1 6 0.03 | 0.13 - 0.45 - 2.65 - 7.25 - 22.75
7 0.03 | 0.13 - 0.45 - 2.62 - 7.14 - 22.48
8 0.03 | 0.13 - 0.44 - 2.58 - 7.07 - 22.59
9 0.03 | 0.13 - 0.44 - 2.57 - 7.04 - 22.53
10 0.03 | 0.13 - 0.44 - 2.57 - 7.03 - 22.51
12 0.03 | 0.03 | 0.16 | 0.16 | 0.61 | 0.61 | 3.25 | 3.256 | 9.21 | 9.21
15 0.03 | 0.03 | 013 | 0.13 | 047 | 047 | 3.26 | 271 | 9.21 | 742
16 0.03 | 0.03 | 0.14 | 0.14 | 0.48 | 0.48 | 2.74 | 2.74 | 7.54 | 7.54
RS J, kg - cm? 20 0.03 | 0.03 | 0.13 | 0.13 | 047 | 047 | 2.74 | 2.71 | 7.54 | 7.42

25 0.03 | 0.03 | 0.13 | 0.13 | 047 | 047 | 2.71 | 2.71 | 7.42 | 7.42
28 0.03 | 0.03 | 0.14 | 0.14 | 0.48 | 0.48 | 2.74 | 2.74 | 7.54 | 7.54
30 0.03 | 0.03 | 0.13 | 0.13 | 047 | 047 | 2.71 | 2.71 | 7.42 | 7.42
32 0.03 | 0.03 | 0.14 | 014 | 0.48 | 0.48 | 2.74 | 2.74 | 7.54 | 7.54
2 35 0.03 | 0.03 | 0.13 | 0.13 | 047 | 047 | 2.71 | 2.71 | 7.42 | 7.42
40 0.03 | 0.03 | 0.13 | 0.13 | 047 | 047 | 2.71 | 2.71 | 7.42 | 7.42
45 0.03 | 0.03 | 0.13 | 0.13 | 047 | 047 | 2.71 | 2.71 | 7.42 | 7.42
50 0.03 | 0.03 | 0.13 | 0.13 | 044 | 044 | 257 | 2,57 | 7.03 | 7.03
60 0.03 | 0.03 | 0.13 | 0.13 | 044 | 044 | 257 | 257 | 7.03 | 7.03
70 0.03 | 0.03 | 0.13 | 0.13 | 044 | 044 | 257 | 2,57 | 7.03 | 7.03
80 0.03 | 0.03 | 0.13 | 0.13 | 0.44 | 044 | 2,57 | 257 | 7.03 | 7.03
90 0.03 | 0.03 | 0.13 | 0.13 | 0.44 | 044 | 257 | 257 | 7.03 | 7.03
100 0.03 | 0.03 | 0.13 | 0.13 | 044 | 044 | 257 | 257 | 7.03 | 7.03




BEETEMIENAFXAFXRERS

AFX BZ5RYT (8%, RiELk i=3~10)

95 -

=\

Cc9

L2

L3 L8 C8

@D4

@D5
|

|

|

—

—

1L
@C5

/ L10
D6

C6,
D2 L7
DIN332/2 Cc4
L11
L12
‘_.1 ‘
S, s bl
L13 ‘ D6
ihAzat S1 ihAzat s2 ihAzst s3
[BBiZ: mm]
R AFX042 AFX060 AFX075 AFX100 AFX140 AFX180
D1 50 68 85 120 165 215
D2 3.4 5.5 6.8 9 11 13
D3 12, 16,4 22 32, 40 ,, 55
D4 g6 35 60 70 90 130 160
D5 22 21 30 40 75 95
D6 M4 x 0.7P M5 x 0.8P M8 x 1.25P M12x 1.75P M16 x 2P M20 x 2.5P
D7 h6 - 16 22 32 40 55
L1 42 62 76 105 142 180
L2 19.5 28.5 36.5 58 82 82
L3 6.5 20 19.5 30 30 30
L4 1 1.5 1.5 2 3 3
L5 14 25 32 40 63 70
L6 2 2 3 5 5 6
L7 4 6 7 10 12 15
L8 31 62 84 103.5 132 180.5
L9 42 70 90 115 142 180
L10 10 12.5 19 28 36 42
L11 - 26 26 26 40 41.5
L12 - 15 15 15 20 21.5
L13 - 21 22.5 23 33.5 33.5
c1' 46 70 100 130 165 215
c2' M4 x 0.7P M5 x 0.8P M6 x 1P M8 x 1.25P M10 x 1.5P M12 x 1.75P
c3' <11/<12? <14 /<162 <19/ <24 <32 <38 <48
c4' 25 34 40 50 60 85
C5' 30 50 80 110 130 180
C6' 3.5 8 4 5 6 6
c7' 42 60 90 115 142 190
c8' 29.5 19 17 19.5 22.5 29
C9' 86.5 129.5 157 211 266.5 321.5
C10' 8.75 13.5 10.75 13 15 20.75
B1h9 4 5 6 10 12 16
H1 13.5 18 24.5 35 43 59
X } W16x0.8x W22x1.25x W32x1.25x W40x2x W55x2x
DIN5480 30x18x6m 30x16x6m 30x24x6m 30x18x6m 30x26x6m

1. CI~CIO0RRFINERIRIERIRZ R, 1B/ Lk s R EERZ R,
2. AFX042 5,10/fIREVIZALCI<127TiE; AFX060 5,10/fIRECIZAC3< 16Tk,

5



APEX DYNAMICS, INC.

AFX RIIRT (W, miELk i=15~100)

Cc9

L2 L3 L8 c8 oc7
D1 C10]
U T :;E:\
¥ = — 5
2 8y HI— g s
8 8 A 1 I'Ss
)
[L1o) L S — aC1
@D2 D6 L7 <8
DIN332/2 ca
AFX060A / AFX075A | AFX100A / AFX140A
Cc9
L L2 L3 L8 ,_C8
L12 C10
= m -
— [a]
L3 | ° LI
1
<L10> L‘L« c6
Rzt s1 Rt s2 At s3 - =
[B2RZ: mm]
R AFX042 | AFX060 | AFX060A AFX075 | AFX075A | AFX100 | AFX100A | AFX140 | AFX140A | AFX180
D1 50 68 85 120 165 215
D2 3.4 55 6.8 9 11 13
D3 12, 16, 22, 32, 40, 55
D4 g6 35 60 70 20 130 160
D5 22 21 30 40 75 95
D6 M4x0.7P M5x0.8P M8x 1.25P M12x1.75P M16x2P M20x2.5P
D7 hé - 16 22 32 40 55
L1 42 62 76 105 142 180
L2 19.5 28.5 36.5 58 82 82
L3 6.5 20 19.5 30 30 30
L4 1 15 15 2 3 3
L5 14 25 32 40 63 70
L6 2 2 3 5 5 6
L7 4 6 7 10 12 15
L8 58.5 73 99 117 132 145 164.5 188.5 203.5 236
L9 42 70 2 115 142 180
L10 10 125 19 28 36 42
L11 - 26 26 26 40 41.5
L12 - 15 15 15 20 21.5
L13 - 21 22.5 23 33.5 33.5
ct® 46 46 70 70 100 100 130 130 165 165
c2 M4x0.7P | M4x0.7P | M5x0.8P M5x0.8P M6x1P | M6x1P | M8x1.25P [M8x1.25P | M10x1.5P |[M10x1.5P
c3 <11/<12 | <11/<12 | <14/<16 | <14/<15875/<16 | <19/<24| <19/<24| <32 <32 <38 <38
c4 25 25 34 34 40 40 50 50 60 60
Cc5’ 30 30 50 50 80 80 110 110 130 130
ce’ 3.5 3.5 8 8 4 4 5 5 6 6
cr 42 42 60 60 90 90 115 115 142 142
cg’ 29.5 29.5 19 19 17 17 19.5 19.5 22.5 22.5
cy’ 114 151 166.5 192 205 250 272 320 338 370.5
C10° 8.75 8.75 13.5 13.5 10.75 10.75 13 13 15 15
B1h9 4 5 6 10 12 16
H1 13.5 18 24.5 35 43 59
X _ W16x0.8x W22x1.25x W32x1.25x W40x2x W55x2x
DIN5480 30x18x6m 30x16x6m 30x24x6m 30x18x6m 30X26x6m

3. C1~C1O0RAHIRESREERZRY, B EMRIE RIETIERHHIERZ RT .




BEETEUMIENAFXAFXRERS

AFXR &5~ milig
< Aan
RIEH e R
Bl 2 2 [ miEkk™ [AFXR0427AFXR060]AFXR060A] AFXR075] AFXR075A] AFXR100]AFXR100A| AFXR140[AFXR140AJAFXR180
3 9 36 - 90 - 195 - 342 - 588
4 12 48 - 120 - 260 - 520 - [1,040
5 15 60 - 150 - 325 - 650 - |1,200
6 18 55 - 150 - 310 - 600 - |1,100
7 19 50 - 140 - 300 - 550 - |1,100
] 8 17 45 - 120 - 260 - 500 - | 1,000
9 14 40 - 100 - 230 - 450 - 900
10 14 60 - 150 - 325 - 450 - [1,200
12 - 55 - 150 - 310 - 600 - [1,100
14 - 42 - 140 - 300 - 550 - [1,100
16 - 45 - 120 - 260 - 500 - [1,000
20 - 40 - 100 - 230 - 450 - 900
12 12 - - - - - - - - -
15 14 - - - - - - - - -
16 15 - - - - - - - - -
20 14 - - - - - - - - -
SR IE T, Nm 25 15 60 60 150 | 150 | 325 | 325 | 650 | 650 | 1,200
28 19 50 50 140 | 140 | 300 | 300 | 550 | 550 | 1,100
30 20 55 55 150 | 150 | 310 | 310 | 600 | 600 | 1,100
32 17 45 45 120 | 120 | 260 | 260 | 500 | 500 | 1,000
35 19 50 50 140 | 140 | 300 | 300 | 550 | 550 | 1,100
40 17 45 45 120 | 120 | 260 | 260 | 500 | 500 | 1,100
) 45 14 40 40 100 | 100 | 230 | 230 | 450 | 450 | 900
50 14 60 60 150 | 150 | 325 | 325 | 650 | 650 | 1,200
60 20 55 55 150 | 150 | 310 | 310 | 600 | 600 | 1,100
70 19 50 50 140 | 140 | 300 | 300 | 550 | 550 | 1,100
80 17 45 45 120 | 120 | 260 | 260 | 500 | 500 | 1,000
90 14 40 40 100 | 100 | 230 | 230 | 450 | 450 | 900
100 14 40 60 100 | 150 | 230 | 325 | 450 | 650 | 900
120 - - 55 150 | 150 | 310 | 310 | 600 | 600 | 1,100
140 - - 50 140 | 140 | 300 | 300 | 550 | 550 | 1,100
160 - - 45 120 | 120 | 260 | 260 | 550 | 550 | 1,000
180 - - 40 100 | 100 | 230 | 230 450 450 900
200 - - 40 100 | 100 | 230 | 230 450 450 900
BUEIIHE Tonor® Nm 1,2 | 3~200 3 fEEEm e
EUEBINGETE N,y rpm 1,2 | 3~200 | 5,000 | 5,000 | 5,000 | 4,000 | 4,000 | 4,000 | 4,000 | 3,000 | 3,000 | 3,000
BRABNEE N rpm 1,2 3~200(10,000{10,000(10,000| 8,000 | 8,000 | 8,000 | 8,000 | 6,000 | 6,000 | 6,000
. N . 1 3~20 - - - <2 - <2 - <2 - <2
BRI PO aremin 2 |25~200| - - - =<4 =<4 <4 <4 =4 =4 =4
Ry ) 1 3~20 <4 <4 - <4 - <4 - <4 - <4
R P1 aremin 2 |25~200| =7 | =7 | =7 | =7 | =7 | =7 | =7 | =7 | =7 | =7
s . 1 3~20 <6 <6 - <6 <6 - <6 - <6
TR P2 aremin 2 |25~200] =9 | =9 | =9 | =9 | =9 | =9 | =9 | =9 | =9 | =9
LR Nm/arcmin| 1,2 3~200| 3 7 7 14 14 25 25 50 50 145
BEFREES Fop® N 1,2 3~200| 610 |2,900 | 1,400 | 4,500 | 4,100 | 7,800 | 9,200 | 9,450 |14,000(15,600
BB F,e® N 1,2 3~200| 320 | 1,450 1,100 | 2,250 | 3,700 | 3,900 | 5,800 | 4,725 |11,400| 7,800
st 1 3~20 >95%
s % 2 |25~200 >92%
== kg 1 3~20 | 09 | 2.7 | 37 6.1 79 | 122 | 16 | 253 | 32 | 50.2
2 |25~200| 1.2 | 2.4 | 28 | 4.8 8 1.6 | 151 | 24 | 292 | 47.4
FRRE °c 1,2 3~200 -10°C~+90°C
g 1,2 3~200 BRGEEHE
Yat a5 1,2 3~200 IP65
RERMA 1,2 3~200 S =Valll
I @ dB 1,2 | 3~200] <61 ] <63 | <65 | <65 | <68 | <68 | <70 | <70 | <72 | <72
(1) IREREL (i=N,, / Noy)
(2) BAUEIH AT 5= 60% of Tonor
(3) AR 100RPMAETR, FERTFHEHFOMIE
(4) LLEUBRET RIS, LAS000EEEM 10 (BBT5) 5k100k (SNF) IREMLEUS.
L E RS EN I EE =N, BESRIEEE3R5D N,

(5) TEW LT HEAER.



APEX DYNAMICS, INC.

RENETNIRE
B s TE | REEE™ | AFXR042| AFXR060|AFXRO60A| AFXR075|AFXR075A | AFXR100|AFXR100A | AFXR140|AFXR140A| AFXR180
] 3~10 | 0.09 | 0.35 - 2.25 - 6.84 - 23.4 - 68.9
12~20 | - 0.07 - 1.87 - 6.25 - 21.8 - 65.6
12~20
BigE J, kg + cm’ 15 0.09 - - — - _ _ - - _
) 20 0.09 - - - - - - - - -
25~100| 0.09 | 0.09 | 0.35 | 0.35 | 225 | 2.25 | 6.84 | 6.84 | 234 | 23.4
120~200] - - 0.07 | 0.31 | 187 | 1.87 | 6.25 | 6.25 | 21.8 | 21.8




BEETEMIENAFXAFXRES

AFXR RIIRT (BT, RiELL i=3~20)

L8

oLl L2 L3
2D2 _
o ﬁ!__lé_% o m
¢ t;z;/ 2\ w
ﬁ% A
\\Cg YIS s~ B
=" S °l & E
L10|
% % $ = E l” I
D6 L7
L DIN332/2 5
8
=
(@]
B1,, L6 L1
L12
i
Sl
& - =
REN
1
izt S1 et 2 ihfest s3
[BAf: mm]
R~ AFXR042 AFXR060 AFXR075 AFXR100 AFXR140 AFXR180
D1 50 68 85 120 165 215
D2 3.4 55 6.8 9 11 13
D3 12 16 22,6 32, 40 ,, 55,
D4 g6 35 60 70 90 130 160
D5 22 21 30 40 75 95
D6 M4 x 0.7P M5 x 0.8P M8 x 1.25P M12 x 1.75P M16 x 2P M20 x 2.5P
D7 h6 - 16 22 32 40 55
L1 42 62 76 105 142 180
L2 19.5 28.5 36.5 58 82 82
L3 6.5 20 19.5 30 30 30
L4 1 1.5 1.5 2 3 3
L5 14 25 32 40 63 70
L6 2 2 3 5 5 6
L7 4 6 7 10 12 15
L8 111.5 171.5 216.5 283.5 360.5 427.5
L9 42 70 90 115 142 180
L10 10 12.5 19 28 36 42
L11 - 26 26 26 40 41.5
L12 - 15 15 15 20 21.5
L13 - 21 22.5 23 33.5 33.5
c1' 46 70 100 130 165 215
c2' M4 x 0.7P M5 x 0.8P M6 x 1P M8 x 1.25P M10 x 1.5P M12 x 1.75P
c3' <11/212 <14/<16 <19/ <24 <32 <38 <48
c4' 25 34 40 50 60 85
C5' 30 50 80 110 130 180
C6' 3.5 8 4 5 6 6
Cc7' 42 60 90 115 142 190
c8' 29.5 19 17 19.5 22.5 29
Cc9' 90.5 116.5 152.5 191.5 235.5 303.5
C10' 8.75 13.5 10.75 13 15 20.75
B1 h9 4 5 6 10 12 16
HA1 13.5 18 24.5 35 43 59
X _ W16x0.8x W22x1.25x W32x1.25x W40x2x W55x2x
DIN5480 30x18x6m 30x16x6m 30x24x6m 30x18x6m 30x26x6m

1. C1~C1ORAFWREDIAEEIR R, BRIt miESA R H e R .

9



APEX DYNAMICS, INC.

o = -
AFXR RZJRT (WW, ®RiELL i=15~200)
L8
L2 L3
‘ oC7
el
3 8 >
Ha )
B
_ View A
(@]
AFXRO060A / AFXR075A /| AFXR100A / AFXR140A
L8
L11 L2 _ L3
L12 | 5 A
— EI x|+ - R 8 8 —X 1T 7777\47 N
[ 1 \. i 3
L4 |1 -
113 | D6 b iimaaml
oo’ __l ! = =
Bfst S1 Hifist S2 Hifist S3 e |8
At
[BAiZ: mm]
R~ AFXR042| AFXR060 |AFXR060A AFXRO075 |AFXR075A AFXR100|AFXR100A AFXR140|AFXR140A AFXR180
D1 50 68 85 120 165 215
D2 3.4 5.5 6.8 9 11 13
D3 12 , 16 22, 32, 40 ,, 55 .
D4 g6 35 60 70 90 130 160
D5 22 21 30 40 75 95
D6 M4 x0.7P M5x0.8P M8x 1.25P M12x1.75P M16x 2P M20x2.5P
D7 h6 - 16 22 32 40 55
L1 42 62 76 105 142 180
L2 19.5 28.5 36.5 58 82 82
L3 6.5 20 19.5 30 30 30
L4 1 1.5 1.5 2 3 3
L5 14 25 32 40 63 70
L6 2 2 3 5 5 6
L7 4 6 7 10 12 15
L8 139 176 208.5 220 264.5 309.5 344.5 392.5 432 464.5
L9 42 70 90 115 142 180
L10 10 12.5 19 28 36 42
L11 - 26 26 26 40 41.5
L12 - 15 15 15 20 21.5
L13 - 21 22.5 23 33.5 33.5
C1? 46 46 70 70 100 100 130 130 165 165
c2’ M4x0.7P | M4x0.7P | M5 x 0.8P M5x0.8P M6x 1P | M6x1P | M8x1.25P | M8x1.25P | M10x 1.5P | M10x 1.5P
Cc3’ S11/12 | <11/<12| 147516 | <14/<15.875/<16| <19/<24 | <19/<24 <32 <32 <38 =38
c4’ 25 25 34 34 40 40 50 50 60 60
C5° 30 30 50 50 80 80 110 110 130 130
C6’ 3.5 3.5 8 8 4 4 5 5 6 6
c7* 42 42 60 60 90 90 115 115 142 142
c8’ 29.5 29.5 19 19 17 17 19.5 19.5 22.5 22.5
co’ 90.5 104.5 116.5 126.5 152.5 165 191.5 205 235.5 254.5
c10° 8.75 8.75 13.5 13.5 10.75 10.75 13 13 15 15
B1 h9 4 5 6 10 12 16
H1 13.5 18 24.5 35 43 59
X ) W16x0.8x W22x1.25x W32x1.25x W40x2x W55x2x
DIN5480 30x18x6m 30x16x6m 30x24x6m 30x18x6m 30x26x6m

2. C1~C1ORAHIFESRERRZ R, BW_ERIE FIEIUERHRHERZRT .,
10



BRI TEMIENAFXAFXRERS

IR IE H A9 % H

. RAENE
2a
$20
2p
HEETHA
8 DHMAE T
S5 | S1
BpEe HESRiERE -
YES ED<60% NO FZra FZaa
t ork<20mins F2f° ) FZBC
(Eq.1) BRS¢
EBH  Faa>Faag
IHERHELL | (Eq.2) HEIREL | (Eq.2)
l l an
&R iR S T+ &R s 1S Mg
HIE Ton  (Eq.3) HIE Ton  (EQ.3) e oy | |
| t t t t
* a C d P
}j‘%ﬁlﬁﬁﬁﬁﬁ%kﬂﬂﬁ tr:y(:le
_H E T max Bl
o T
16D =2 00%, by =t t 4t
- _v X % twork T taT e ld
BARA N0 TnaTa Tm<Tn NO, EARA ARG 2. D0 . S
TREEAL Tom<Tax L d. i pfEiE (Eq-1)
|
YES
v 2.i= nn"‘k
YRR RTEE n,, yes o
RmENEERHEE n,, (Eq.5) Nm %t_!ﬁﬂjzili
Nwork SEBRBIFAIERE
(Eq.2)
v =5 NO
Eggidggﬁ MMy 3.T. = %/ Na X 13 X T233+ Nge Xt X T203+n2d Xty X Tzd3
2m Npg X by Npg Xt +Nypg X ty
YES (Eq.3)
. . \ 4. Ty = Tg X X KgxN
TERENSE ERSZZFEHEEA F,,
A - (Eq.6) K, Ak ZRE
K BHAIRE / MRS
IHERENE S L2 FI9REA Fope 1.0 0~ 1,000
AT F oo 1.1 1,000 ~ 1,500
b 13 1,500 ~ 2,000
1.6 2,000 ~ 3,000
Fzrm<F2rB NO
ETR e AR 18 3,000 ~ 5,000
g 2.0 5,000 ~ 9,000
YES 2.05 9,000 ~ 10,000
v not recommended above 10,000
WEEATE RS E R H A
l T DIER A ALE
R n EENIEERE (Eq.4)
5. g = Nyq =%X N2e
A — = Ny Xty +tn+2: x+t: +Nyg Xy
a C d
—RNNARERFSUTLR oy =i (Eq.5)
JiL i
F <4xdnm
%J‘E% E"J}ﬁﬁﬁ'ﬁ%@jﬁél/l?ﬁiﬁ 6.F, =3 n2a X ta X F2ra3+ n20 X tcx F2r03+n2d X tcl X F2rd3
JL ~ Tam nZa S ta+ nZC X tc +nZd X td
JL ﬁﬁﬁ'& F -3 n2a X ta\ X anas"' n2c X tcx F2a03+n2d Xtd X and3
‘J"‘ —%it'lﬁ'[i 2am™ nZa X ta+ nZC X tc +n2d X td

(Eq.6)

11



APEX DYNAMICS, INC.

RIEHNBSEHZFFE @D RMRD

L
X | ——
) —
FZ,@ |
o Amm e BRI SERE Z BARE N RGN, HILREE
& B AZIgI, AT RRERAAR T MR R AR
| SERTIEIT, HAEREE ARG 5T
|
F, &R —

F,. 5= 7 -_

100,000 L 12 8 N F, 0 73 F 50 A o0 AL
60,000 FEIX=1/2xLE}, REAAEZ
40,000 BIR ML TE A [ 46 45 R IE A

A & “ * v
z j 20,000 Tﬁﬁjﬁmzo, 000hr ™A,
e, I FeERZ 2B IFREB NF,g,
o S —
2 10,000 AFX180 /AFXR180  jzsmim
R & 6,000 — - AFX140 / AFXR140
= = AFX100 / AFXR100
= *q: 4,000 g ———
X h ~= AFX075 / AFXR075
?“:F‘l-R 2,000 ~—~— — AFX060 / AFXR060
K = I
1,000
200
10 20 40 60 100 200 400 600 1000 2000
HHimEEEn, [rpm]
L 12 6 IF, 0 I A EG O
15 i & B, # 5 3T 08 i AL AP
14 X<1/2xL, Fige R Z 2 B E
1.3 18 125 K, i % s i 4L D
12 AFXOBOTAFXROBO x> 1/oxLet, FreE R E 2 &1
& 11 N AFX075 /AFXRO75 4z 3 M5 /s, 350 2 [, 4k
10 N\ LA A4S B 42 18 1 M6 1 iz
oA . \&\ IR KiZE iva
£ %91\ NN AFX100/ AFXR100 ~ HBX B HE S RHK..
& 08y SANE
Bl N 7&\ AFX140 / AFXR140
0.7 \ ~
46 AN ><\ \\/ AFX180 / AFXR180
. \ AN
0.5 AN e T
03 \ I~ \\\
0 40 80 120 160 200 240 280 320 360 400
FEAEANME X[ mm ]

12



. BEETEMIENAFXAFXRES

Note

13



APEX DYNAMICS, INC. .

Note

14



*;k**
KX APEX DYNAMICS, INC.
L Ral AR EIRAE

EEmERHIVEXREE128S

No.128 Zhuying Road,Qingpu Industry Zone,Shanghai
TEL:86-21-69220577 FAX:86-21-69220571
http://www.apexdyna.cn

E-mail: sales@apexdyna.cn

AR 552k : 86-21-69220585

APEX-2019-06-AFX/AFXR SERIES-1.0C-1.0V




